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Dark current



Experiment setup
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The number of signal per window
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The number of signal per window
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The number of signal per window
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The number of signal per window
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Frequency of noise [MHz]
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ADC sum with other parameters
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ADC sum

with cut condition

ADCsum[0] {Pedestal[0] > 918 && sigma_pedestal[0] < 3}
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Fitting Function

—Houble finger_ftidouble =x, double *par)

{

double ped = 22.78;

double =igma_noise = 325.5;

double
double
double
double
double
double
double
double
double
double

return

xx = x[0]:;
y=0;

v0 = exp(—(xx
vl = exp(-(xx
v?2 = exp(—(xx
v = exp(-(xx
vl = exp(-(xx
v3 = exp(—(xx
vB = exp(—(xx

fitval:

ped)*(xc¢ — ped) / (2 * sigma_noise*sigma_noise));
par[0] - ped)*(xx — par[0] — ped) / (2. (par[1] = par[1] + sigma_noise * sigma_noise)));
2 = par[0] — ped)*(cx — 2 =
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Fitting result

Integrated_ADC Integrated_ADC
Integrated ADC Integrated_ADC
Entries 3681 Entries 4791
%2 / ndf 813.5/147 %2 / ndf 711.1/124
po 1174 +5.4 p0 991+3.5
| pl 124.3 + 16.1 p1 69.25 + 14.30
60 p2 9.294 +1.169 100— p2 1821+£1.72
p3 25.98 + 1.96 p3 59.13 + 3.11
pd 50.45 + 2.82 p4 89.14 + 3.93
p5 60.13  3.41 p5 109.7 + 4.6
p6 60.41+ 3.81 p6 96.6 +4.7
40— p7 48.64 + 3.84 p7 76.83 + 4.61
p8 42.77 +2.54 p8 50.87 + 3.06
50—
20—
. w% g I

15000



Fitting Function

double xo=x[0]

double w=0;

double vl=exp(—(xx—ped)* (xx—ped)/ (2*sigma*siama) ) ;

double yl=exp(—(xx—par [0] -ped)* (xx—par[0]-ped) / (2*sigma*s igmal) ;
double yZ2=exp(—(xx-2=par[0] ped)* (xx—2*par [0]-ped) / (2*s igma*s igma)) ;
double y3=exp(—(xx-3=par[0] ped)* (xx—3*par [0]-ped) / (2*s igma*s igma)) ;
double yd=exp(—(xxx—4*par[0] ped)* (xx—4*par [0]-ped) / (2*s igma*s igma)) ;
double yi=exp(—(xc—5*par[0] ped)* (xx—5*par [0]-ped) /(2*s igma*s igma) ) ;
double vB=exp(—(xx—6*par[0] —ped)* (xx—6*par [0]-ped) / (2*s igma*s igma) ) ;
double fitval = (par[1]=y(#par[2]=v1+par [3]1=v2+par [4]*y3+par[5]=vd) ;



Fitting result

Integrated_ADC Integrated_ADC
Integrated_ ADC Integrated_ADC

200— Entries 5025 Entries 4399
L 2 / ndf 2375/ 97 ¥2 / ndf 1156/ 63

p0 7926 +2.6 200! p0 607.1+ 2.0

1501~ pt 53.74 + 4.05 pi 78.11+ 4.92
p2 154.4 +6.9 p2 2295 + 8.4

100— p3 211.7 + 8.1 p3 267.2 +9.1
p4 220 +8.2 p4 240.6 + 8.6

p5 1701+7.2 | 100/~ | p5 176.1+ 7.4
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Gailn

# of channel for single photon [ch]
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slope 190 + 1.492
intercept -9846 + 83.26
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